&5 89/HMF ololx|

\

L

’/‘;
L
=

{

© HEINRICH KIPP WERK GmbH & Co. KG

oY
THE!:
AEl o= AEHQIEIA AE]L

AR OIA S
AHQIE|IA ARl ST
=LIPC i LIRRERE

HH:

K1255.001000, K1255.101000, K1255.001800, K1255.010001,
K1255.001600, K1255.101600, K1255.002400 2! K1255.004000
HAM2 H=# 24 lE E S Z &

AMIME]:
K0688
K0689
K0690
K0101
K1442
K0102
K0103
K1443
K0104
K0106
K1441
K1431
K1255

www.kipp.com - info@kipp.com

1/3



3/MIE olo|X]|

Mo
=o

=25

54

ol

or
Hio

H
mu

il
R0

<

la

._»ﬂ
K0
1]
ial
<l

HO

m
%0
Kl
K1

n_

s
H0
<

ml
HO
i =

i

0

= NS

iof
2l
of
Kk

700
1200
800
1000

500
600
500
800

1000
1800
1000
1600

700
800
700
1200

50
100

85°
60°
69°
75°

120°

K1255.001000
K1255.001800
K1255.010001
K1255.001600

95°
96°
95°

50
100

- info@kipp.com  2/3

www.kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



°
2 SUZ LAY LT U XY IUL ATS
E52%
FEHS Ex e gz ELIAOIHT azZlol 23 &Yy &Yy gy ST
2 ze MW+ ZE  FH F1 F2 F3 F4
N N N N N
K1255.002000 A& 4 108° 70° 100 1000 2000 900 1200
K1255.002400 AE 1 100° 56° 150 1200 2400 800 1600
K1255.002600 EN= 1 90° 70° 150 1000 2600 800 1600
K1255.004000 A& 1 112° 61° 250 2000 4000 1400 3000
K1255.040001 AE 1 90° 70° 250 2000 4000 1400 3000
K1255.007000 AE 1 90° 70° 250 3200 7000 1400 3000
K1255.003600 A& 3 106° 67° 100 1800 3600 900 1800
K1255.008000 AE 1 100° 50° 280 3000 8000 1800 3900
K1255.101000 AE|QlE|A AE 1 120° 85° 50 700 1000 500 700
K1255.101800 AE|QlEA AE 1 95° 60° 100 800 1800 600 1200
K1255.101600 L QlEA AE 1 95° 75° 100 1200 1600 800 1000
K1255.102600 AE|QlE|A AE 1 90° 70° 150 1000 2600 800 1600
K1255.102400 2E QA AR 1 100° 56° 150 1200 2400 800 1600
K1255.104000 AE|Qla|A AE 1 112° 61° 250 2000 4000 1400 3000
FEWHS 2 M A Al A2 A3 B Bl B2 B3 B4 B5 C CI D H L L1 L2 M
K1255.001000 AEl 16 26 - - 24 34 95 55 - 2 16 9 44 88 57 31 166 M5x35
K1255.001800 AE 12,7 254 - - 27 397 13 7 - 3 227 95 52 104 647 337 199 M6x44
K1255.010001 Agl 16 29 - 14 24 34 10 5 17525 22 10 48 97 67 38 27,9 M5x35
K1255.001600 AEl 12,7 27 - - 268378122 62 - 3 23 11 52 125 70 43 249 M6x50
K1255.002000 A8 19 35 - 127 27 42 11 6 25 3 29 13 55 135 79 44 32,9 M6x50
K1255.002400 Agl 19 349 - - 318 46 143 83 - 3 318 16 72 141 1172 73,2 494 M8x63
K1255.002600 AEl 19 35 - - 32 47 149 89 - 3 32 175 71 178 1102 752 50,1 M8x60
K1255.004000 AE 31,8492 - - 453643 19 11 - 3 44 19 87 206 1395 90,3 63,5 M10x85
K1255.040001 A& 32 50 - - 45 64 186 106 - 4 42 22 83 2204 1428 928 62,2 M10x80
K1255.007000 AEl 32 53 - - 45 64 227127 - 5 51 25 87 226 177 124 90 M12x100
K1255.003600 AE 25 43 9 19 337512148 88 - 3 35 19 8 197 143 100 70  M8x60
K1255.008000 AEl 50,8 76,2 - - 698 952 265 165 - 8 82,1 31,8 123 303 2292 153 105 M16x150
K1255.101000 AEQEIA AR 16 26 - - 24 34 95 55 - 2 16 9 44 8 57 31 166 M5x35
K1255.101800 AE[QlE|A AR 127 254 - - 27 397 13 7 - 3 227 95 52 104 647 337 199 M6x40
K1255.101600 2E[Qllla A8 127 27 - - 268378122 62 - 3 23 11 52 125 70 43 249 M6x50
K1255.102600 AEQlElA A8 19 35 - - 32 47 149 89 - 3 32 175 7,1 178 1102 752 50,1 M8x60
K1255.102400 AFEfQlEl4a A8l 19 349 - - 31,8 46 143 83 - 3 318 16 72 141 1172 73,2 494 M8x60
K1255.104000 2EIQllA AR 318492 - - 453643 19 11 - 3 44 19 87 206 1395 90,3 635 M10x80

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



